EEYOTFIAMEIFR2011EE
20115118 PRXHEESE

G B TN % o RS =

— fig | —#eREt 3,800,977 48,300 373,709 3.475,568

B 8,321,848 0 0 8,321,848

& O 12122825 48,300 373,709 11,797,416
B | BRI 744,169 0 52,500 691,669

B 9,204,179 0 0 9,204,179

& HO® 9,948,348 0 52,500 9,895,848
Bl Ral Bl 2,868,/68 7,320 0 2,876,088 NEBE AL

5 i 2,868,768 7,320 0 2,876,088
BmeEd (D+2+Q 24,939,941 55,620 426,209 24,569,352

M E B &

— % = & 2011411 B30H
B B R 1T £ OFEES B &
S 87,633
LEEE |=HERBITEEIRAIRZE (3406748 3,178,935
REE [FSUoL—L 144,000
EX & A 144000
AE S 209,000 |fTERABHFHEAQES
* IR & 0
N E oa 3,475,568 & £ £)
FEILD
EHEE [=HERBITEERAIZE 536486830 5,000,000
EHTEE [SHERIBITEERAIXZIE  [536486832 3,321,848
NED 8,321,848

& & D (atb) 11,797,416

E4ERIEE
B B R 1T £ OFEES & ] B &
I 122,728
LEHEE |=HERBITEERAIZE  [3406730 568,941 & FF 4 $254300,000

Az&d

NET 691,669 & & 2
(& 3L &)
EHEE |=HERBITERRAIZE 539008120 5,000,000
EHEE |[SHERRBITERRIIZE 53900812 4,204,179
I Bt b 9,204,179

& i @ (atb) 9,895,848
A ET
B B R 1T £ OFEES B &

FEHELEES 2,876,088
LEEE |ZERFURRITEEXIE 3707276 176,088/ g5 & A £7,320M
EHEE |ZERFRUFRITEEXIE 3707276-026 2,700,000

& i 3 2,876,088




EEYVOSFIANIFE
2011511 A—REHINZRES

IR A D &
15 B EEEFEE B A &S L A URA LAES i
2 E IR A [ 7,225,000 ]{[ 3,500,000 ]|[ 0]1|[ 3500000 ]
ZEE2E 6,300,000 3,150,000 0 3,150,000
WASEERE 525,000 150,000 0 150,000
WASEBAZS 280,000 140,000 0 140,000
Be B = & 0 0 0 0
MASERAE 120,000 60,000 0 60,000
g & 8 A | 0 J)[ 0 [ 01|[ 0]
Vv KB HFHEA) 0 0 0 0
Vv K= EHFHEB) 0 0 0 0
Hh X K=& 54 (A) 0 0 0 0
Hh X K=& 5 (B) 0 0 0 0
TRHE=EHEH 0 0 0 0
Z D E R 0 0 0 0
# W A [ 1,041,000 J[[ 111,453 ]|[ 48,300 J|[ 159,753 ]
RGN 40,000 500 1,300 1,800 [&RIEH, B*l
AR EIRA 500,000 0 0 0
FOF 4R A 1,000 0 0 0
z D b 500,000 110,953 47,000 157,953 [*1
B OY & 0 0 0 0
MOSITHEBIAE |( o[ 0 |[ 01|[ 0]
RESEEE TSR |( o[ 0 |[ 01|[ 0]
/] & [ 8,266,000 )[C 3,611,453 )]|( 48,300 ) [ ( 3,659,753 )
| BT ERR S 2,129,287 2,129,287 0 2,129,287
v A & & 10,395,287 5,740,740 48,300 5,789,040

* 1 —3=3%533000M . X+ JLT114000MH




ERYOTFIRAMEFRER
2011411 A — g2

XA

THDE 20114 98 1H ~ 201248H31H (H{1:M)
15 8 EIEFHEE BIA S LAXH LARS it =
NE HE&E [ 1,154,000 ][ 840,000 ][ 50,030 J[[ 890,030 ]
yoaveaEg®& 840,000 840,000 0 840,000
JIASEERE 80,000 0 40,000 40,000 |[#iALE24
g B F 5 & 196,560 0 0 0
EEHASEELE 16,740 0 9,254 9,254 |ASEBIFRE 2% 1$=7171H
EI I - 20,700 0 776 776 |#iALE28 1$=71.77H
2)% & H [ 835000 ][ 244,000 )| 0l 244,000 )
EBRREEHBNEERN 30,000 0 0 0
IPEPIN 34555 90) 230,000 0 0 0
JoarvkEEHEH B) 150,000 0 0 0
R KB HE (A 135,000 132,000 0 132,000
R XS &5 (B) 140,000 112,000 0 112,000
2R E KR 150,000 0 0 0
3E B & [ 4277520 ]J)[ 855763 ]J|[ 323679 J[[ 1,179,442 ]
E B Z B (2,736,520 ) [ (590,098 )| ( 154,071 )| (744,169 )
ffl & & 1,500,000 233,310 80,850 314,160 [11AHIE
= B B 300,000 25,460 4,620 30,080 |[11AEES
E 270,000 72,013 40,644 112,657 |AE—#EH. Fv/VBRE 477741V
m R & 100,000 65,520 0 65,520
B _E & 50,000 8,220 180 8,400 [*—IL{&E
- 100,000 10,000 3,257 13,257 |EEBREAI10EFRE
i & 20,000 1,155 2,310 3,465 |iRA%jok
5 = # 266,520 44,420 22,210 66,630 |FIHIL—L11AS
EY NS 130,000 130,000 0 130,000
£ 8 £ & (_ 710,000)|( 168,765 )| ( 91,608 ) [(  260,373)
E B Z 150,000 75,000 0 75,000
EOE ' 560,000 93,765 91,608 185,373 |53k, IGU. HHEES
B Al EBE £ & (( 40,000 ) | ( 10,000 ) | ( 0)]( 10,000 )
fafHmomBEAE(( 50,000 ) | ( 13,900 ) [ ( 0)|( 13,900 )
= 3} OE T E |( 0)[( 0)[( 0)|( 0)
MUOSTRIEE |( 5,000 ) | ( 0)|( 0)]|( 0)
BUOSTHEE |( 0)|( 0)]|( 0)]|( 0)
KX £ F & B | 736000)(¢ 73,000 ) | ( 78,000 ) | ( 151,000 )
E E X = 0 0 0 0
g2 B X = 300,000 0 0 0
yoary X = 36,000 0 0 0
#Hh X X = 0 0 0 0
= E & H 50,000 50,000 0 50,000
z D 350,000 23,000 78,000 101,000 |SIFFE. KiZAFKE K345
4B I & [ 500,000 ){[ 0 ]([ 01|l 0]
FUSTHRRIEN & 0 0 0 0
i hva £ 500,000 0 0
S)FLHAKEHAREA( 3000000 ]|[ 0 J|( 0 J|[ 0]
0
U\ it (9,766,520 )| ( 1,939,763 )[( 373,709 )(( 2,313,472)
6)% i & [ 628767 )| 0 J{[ 0 ]| 0]
X H & @&t 10,395,287 1,939,763 373,709 2,313,472
= 5 Bl R & 0 3,800,977 A 325409 3,475,568

€)




201 111 AFEEBINESHIGHRESE

IR A @ & B 20114981H F 201248H31H
15 B EEFELE A RKS L AURA LARE i =
4 E WA 0 30,000 0 30,000
iR & IR A 0 0 0 0
—REEHEFIRA 3,000,000 0 0 0
m AW E IR A 200,000 0 0 0
i 4= A 1,000 0 0 0
EHEEE SN 300,000 0 0 0
GOSAX 1 M FEHR AR 0 0 0 0
/Iy &t 3,501,000 30,000 0 30,000
BIAREHEIRE 1,250,429 1,250,429 0 1,250,429
IR A & & 4,751,429 1,280,429 0 1,280,429
Xt D & (Bifz:[)
] B EEFELE A RS LAXH LARE i =
ERHEFEH L 2,000,000 235,000 0 235,000
ERrEXE 1,500,000 0 52,500 52,500 E%;ﬁéﬁ%ﬁggﬁfﬁg
#E & 3,000 1,260 0 1,260
Al FliEESIRT 0 0 0 0
FHEERASET 0 0 0 0
GOSAXEERAEHEA 0 0 0 0
RFEERFES 600,000 300,000 0 300,000
/I &t 4,103,000 536,260 52,500 588,760
SN 648,429 0 0 0
X W & & 4,751,429 536,260 52,500 588,760
=5 B R & 0 744,169 A 52,500 691,669

@




	表紙
	会①
	会②
	会③

